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Run 4322 mpswise, accO: All

Enilries: 933710

Mear: Go32E1 4~ 00018

Sid Dev: 17475 +- 0.00713
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AcciNAccD

Run 4322 mpswise, acc0: Beam ON, Laser ON
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—— Helicity==0
— Helicity==

Enitries: 204053

Mean: 70157 «- 0.0007

Sbd Dey: 0L3E04 4~ D005

Enilries; 284552

Mean: 70520 +- 00007

Std Dwey: 0.379E 4 00005
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Run 4322 mpswise, acc(: Beam OFF

Enilrie=: S8T17

Meary: -0.0985 - 00011

Sid ey 0.2GTE - 0.0008

AccliNAccD

Run 4322 mpswise, acc0: Beam ON, Laser OFF

— Helicity==0
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Enitries: 131807

Mean: 82312 +- 010

Sid Drev: L3527 4 00007
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AccO/NAccO

AccO/NAccO

Run 4322 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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mpsCoda

Run 4322 mpswise, AccO/NAcc0:mpsCoda, beam ON, laser ON
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*10

Accl/MNACCD

Accl/NACeD

Run 4322 mpswise, AccO/NAccO:mpsCoda, beam OFF
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Run 4322 mpswise, AccO/NAccO:mpsCoda, beam ON, laser OFF
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